
 
 

 

 

                                                                     

 

Instructions  

Table de service ML100 

Work station ML100 

Code 413215 

 

 



 
 

 

 

 
 

 

 

 

 

  

 
 

 

 

   
 

 

BOULON / BOLT M6 * 50mm                         

12X 

 

 

NOIX EN NYLON M6 / NYLON LOCK  NUT M6      

14X 

 
SUPPORT DE LOUPE / LAMP SUPPORT    

2X          

 
1. Quincaillerie fournie 

 

 

 

1. Provided hardware 

   

 
ANNEAU RETENU / EXTERNAL RING         

2X 

 

ROULETTES  / WHEELS (CASTERS)                                                     

4X  

 

 
CLÉ / ALLEN / KEY 4mm                                       

1X 

 

 

 INSERT ROULETTES  / SOCKET WHEELS         

4X 

 

 

VIS A CAVITÉ / SOCKET CAP SCREW M6*10mm  

2X 

 

 

CAPUCHON A PRESSION / PLUG HOLE    

24X 

 
 
 
 

 

 
 
 
 
 
 
 
 

CLE À OUVERTURE / OPEN WRENCHE        
1X 

   

            

TABLETTE / SHELF                                                                       

3X 

              

TRAVERSE / FLAT                                                                

1X 

 

COTE TABLE / TABLE SIDE                                         

2X 

  

 



 
 

  

  
 

3. Fixer la TRAVERSE avec la CLÉ ALLEN  & les  VIS 

A CAVITÉ M6 X 10 mm tel qu’illustré. 

NE PAS SERRER COMPLÈTEMENT AVANT D’AVOIR 

POSITIONNER LES 2 VIS A CAVITE M6 X 10 mm 

 

3. Fix the FLAT with the ALLEN KEY & the SOCKET 

CAP SCREW M6 X 10 mm as shown. 

DO NOT TIGHTEN BEFORE POSITIONNING THE 2 

SOCKET CAP SCREWS M6 X 10 mm 

 

 

 

                        

 

2. Prendre un  COTÉ TABLE et la positionner avec les 

trous intérieurs vers l’extérieur puis avec la  CLÉ 

ALLEN, les  BOULONS M6 X 50 mm & les NOIX 

M6 positionner les TABLETTES en respectant 

l’ordre (1, 2, 3). Lors du positionnement des 

tablettes assurez-vous de mettre celle avec 

l’identification Silhouet-Tone sur le dessus. 

NE PAS SERRER COMPLÈTEMENT AVANT D’AVOIR 

POSITIONNER LES 12  BOULONS  M6 X 50 mm POUR 

SERRER L’ASSEMBLAGE UTILISER LA CLE À 

OUVERTURE. 

Répéter l’étape 2 pour assembler l’autre COTÉ DE 

TABLE. 

 

2. Take the TABLE SIDE and position it with the 

internal holes to the outside, then use the ALLEN 

KEY, the BOLT M6 X 50 mm  & the NYLON LOCK 

NUT to position the SHELVES in the order (1, 2, 3) . 

Ensure before tightening the bolt that the shelf with 

the Silhouet-Tone identification is on top. 

DO NOT TIGHTEN BEFORE POSITIONNING THE 12 

BOLT M6 X 50 mm TO TIGHTEN THE ASSEMBLY 

USE THE OPEN WRENCHE 

Repeat the step 2 to assembly the other TABLE SIDE. 

1 
2 

3 

 



 
 

  

4.  Installer les INSERT ROULETTE & ROULETTE à 

chaque patte de la table de service. 

 

 

 

4. Install the SOCKET WHEELS & WHEELS at each 

work station leg.  

 

 

 

 

5. Déposer le SUPPORT DE LOUPE dans les trous des 

COTES TABLE. Utiliser l’ANNEAU DE RETENUE 

pour qu’il reste en place. 

 

 

5. Apply the LAMP SUPPORT on the TABLE SIDE 

holes. 

Use the EXTERNAL RING to keep it in place. 

 



 
 

 

  

 

 

 

 

 

 

 

6. Voici le résultat final. Vous pouvez 
maintenant installer vos options choisis lors 
de votre commande. 

 

 

 
 
6. Here is the final result. You can now install 

the options selected at the purchase of the 

work station. 

 



 
 

 

 

 

 

Table de service ML100 

Work station ML100 

Code 413215 

 
Corporation Silhouet-Tone  
2185, Michelin 
Laval (Québec) H7L 5B8 
Canada 

Tél. /Tel. : 450 687-9456 

                  1 866 340-9456 

export@silhouettone.com 

 
Somak Distribution 
1985, Monterey 
Laval (Québec) H7L 3T6 
Canada 

Tél. /Tel. : 450 688-0123 

                  1 800 361-3004 

infoca@silhouettone.com 
 

Québec: 418 687-8080 

Ontario: 905 940-9566 

  1 800 463-2710 

 
 

 
Silhouet-Tone (U.S.A.) LTD 
1623 NW 84th Avenue 
Miami, FL 33126 
U.S.A. 

Tél. /Tel. : 305 639-2100 

  1 800 552-0418 

stusa@silhouettone.com 
 

 
Silhouet-Tone (Europe) S.A. 
9, route Suisse, CH-1295 Mies 
Suisse 

Tél. :  
  

+41 22 775-1560 

ste@silhouet-tone.com 

 
Silhouet-Tone France Sarl 
14, avenue du Dr Palluel 
74160 St-Julien-en-Genevois 
France 

Tél. : 04 50 49-4532 

stf@silhouet-tone.com 

48611240_Instructions Client 413215_ML100 
Imprimé au Canada / Printed in Canada 
2014-12-17 

mailto:export@silhouettone.com
mailto:stusa@silhouettone.com
mailto:ste@silhouettone.com
mailto:stf@silhouet-tone.com

